N = 0 &8 AF S & Al A
20108 &= 20ilaF LBSIH SAHS ~ SHAS
SH: HHS
Mz cis HAEANEIAES 235
ool SIS FOIME KW (pel @
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SIS 395,269 273,908 121,361
CHs HEANHAES 235 222,352 220,600 1,752
CHsS FoME X 222,352 220,600 1,752
SHHSF=0IAXIHE 29 15,000 15,000 0
201 LBt29H| 15,000 15,000 0
01 AtR2teldl 15,000 15,000 0
OF0XXAH S| 15,000,000& * 14! 15,000
CHHs FOEHSESH 125,570 125,570 0
301 2EtEAZ 125,570 125,570 0
05 S-2l-etEsas2Ma3 124,570 124,570 0
Os&Y 200,000& #3401 x12& 81,600
OsHaUH= 200,000& x34021*23| 13,600
Os&d3ox4 20,0003 34021 %x23| x12& 16,320
OBtE et =| 50,000& *2612! 13,050
10 HAIAHIEAZ 1,000 1,000 0
Ou=x & #HAIS EFAX A2 4
1,000,000& 14! 1,000
CHHl s EAS2I 22 17,557 18,635 A 1,078
201 LEt2AH| 17,557 18,635 A 1,078
02 33294l 17,557 18,635 A 1,078
O2322 2 HA 11,457 ,000& x 14 11,457
Od =l 4,100,000 * 14! 4,100
OAlA& &KX 2,000,000& =14 2,000
HAHS XA 56,225 53,395 2,830
201 dEt23 | 24,255 22,095 2,160
01 At22telyl 14,255 13,095 1,160
Odet2H| 13,255,000& * 14 13,255
OXtEdxts 1,000,000& 14! 1,000
02 =294l 10,000 9,000 1,000
O RER2 10,000,000& x 14! 10,000
202 044l 26,920 25,000 1,920
01 2Wob] 26,920 25,000 1,920
OJl2gd2480d|(122]) 2,160,000 *12& 25,920
O&2 | 1,000,000& 14! 1,000
405 KHAFSHI 5,050 6,300 A 1,250
01 MY =S EF SHI 5,050 6,300 AN 1,250
OPC 1,300, 000& *2CH 2,600
OPC 2LIH 300, 000& x3CH 900
(OE== 700,000& *14] 700




_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Arol e HRE2
OMSFIHgILl 150,000 *1H 150
Os&a Mat 400,000 * 14 400
Oos&a B 300, 000& * 14 300
HAHs ALK& 8,000 8,000 0
405 KHAHFESHI 8,000 8,000 0
01 T =SS HSHI 8,000 8,000 0
OkoAazael| 8,000, 000& 14 8,000
Hs At 3| 122,994 2,065 120,929
CHHlE AREFU=SJAAMNY 122,994 2,065 120,929
s =e=FAY 120,864 0 120,864
401 Al EHIL 201 120,864 0 120,864
01 Al&HI 120,000 0 120,000
Ol FO=JAY & XSS ALY
120,000, 000& » 14 120,000
03 Al R4l 864 0 864
OAl£€ 20l 120,000,000% *0.72/100 864
HAHs T2EY| 2,130 2,065 65
101 el 4] 2,130 2,065 65
04 JIZHMIZ2XEE = 2,130 2,065 65
O &z &el(M4 &z 3yl
42,600 x521%102! 2,130
s 2E283d| 49,923 51,243 A 1,320
HHls s 29| 39,203 38,603 600
HHs elEd=2dl 39,203 38,603 600
101 Q1 Z4H| 29,083 29,083 0
01 = 29,083 29,083 0
OAte 2R+ 7,457 %1321 %300A1 2+ 29,083
203 HRF4Hl 10,120 9,520 600
01 JI22FHRF&HI 6,600 6,000 600
OJI22Z YR =4I 6,600,000& *1¢! 6,600
02 HANMMHRF=EHI 520 520 0
OZFAIMNMHRF&HI 40,000& 132! 520
04 REN2ILRF=LH 3,000 3,000 0
ORNMBEHE=AHI 250,000 «12& 3,000
s J123 8l 10,720 12,640 21,920
SHHls J123Hl 10,720 12,640 A 1,920
201 Let2d| 7,560 7,560 0
01 AtE22(Hl 7,560 7,560 0




SN

X ZH
o=

el

==
D HAls
2aHs S e
_ A =
2N SR (SIH) - NRAE - ® AroH 0 At of =2
5,376,0002! * 14! 5,376
7,0009 «1301 %23 x 122 2,184
202 3,160 5,080 A 1,920
01 3,160 5,080 21,920
180,0002 * 12 2,160
1,000,0002! * 14! 1,000




